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BEWARE OF NEGATIVE MARKING

HAVE CONTROL  HAVE PATIENCE  HAVE CONFIDENCE  100% SUCCESS

1. In Young's experiment the intensity at a point

where path difference is , is I. What is the

intensity at a point where path difference is

/3 (intensity of each source is same) :–

(1) 
I

4
(2) 

I

2

(3) 
I

3
(4) 

I

5

2. If A = 1, B = 0, then in terms of Boolean algebra,

A B  equals :-

(1) A (2) B

(3) A (4) A B

3. In Young's double slit experiment we get

60 fringes in the field of view of

monochromatic light of wavelength 4000 Å. If

we use monochromatic light of wavelength

6000 Å then the number of fringes obtained in

the same field of view is :-

(1) 60 (2) 90

(3) 40 (4) 1.5

4. For given circuit potential difference V
AB

 is:-

(Assuming ideal diode)

10 

10  10 VAB

30 V
+

– A

B

(1) 10 V (2) 20 V

(3) 30 V (4) None

5. Two sodium lamp are used to produced

substained interference. Tick the correct

statement :-

(1) They can produced

(2) They can not produced

(3) They can produced if the intensity of light

is less

(4) They can produced if the intensity of light

is more

1. I
/3 

:–

(1) 
I

4
(2) 

I

2

(3) 
I

3
(4) 

I

5

2. A = 1, B = 0,    
A B   :-
(1) A (2) B

(3) A (4) A B

3.         4000 Å 
      60   
   6000 Å     
         
 

(1) 60 (2) 90

(3) 40 (4) 1.5

4.  V
AB 
 :-



10 

10  10 VAB

30 V
+

– A

B

(1) 10 V (2) 20 V

(3) 30 V (4)  

5. 


(1) 

(2) 

(3) 



(4) 

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6. The I-V characteristic of an LED is :

(1) 
R

ed

Y
el

lo
w

(R) (Y) (G) (B)

G
re

en
B

lu
e

O

I

V

(2) 
(R)

(Y)

(G)

(B)

O

I

V

(3) 

O

I

V

(4) 
(R)

(Y)

(G)

(B)

O

I

V

7. Electric potentials are 20 volt and 80 volt

respectively at points A and B. An alpha ()

particle is moving from A to B, its kinetic energy

at point A is 100 eV then its kinetic energy at

point B will be:-

(1) 20 eV

(2) 220 eV

(3) –20 eV

(4) particle will return towards point A before

reaching point B

8. Two capacitors C1 and C2 are charged to 120V

and 200V respectively. It is found that by

connecting them together the potential on each

one can be made zero. Then :

(1) 5C1 = 3C2 (2) 3C1 = 5C2

(3) 3C1 + 5C2 = 0 (4) 9C1 = 4C2

9. Two metallic spheres A and B have radius R

and 3R and have surface charge densities ,

– respectively. Now they are connected by

conducting wire then final electric potential on

these shell will be :-

(1) 
0

R


 (2) – 
0

R




(3) 
0

2
R




(4) – 

0

2
R





6. LED  I-V  

(1) 
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(2) 
(R)

(Y)

(G)

(B)

O

I

V

(3) 

O

I

V

(4) 
(R)

(Y)

(G)

(B)

O

I

V

7. A 20 B 

80  A B 

A 100 eV B 



(1) 20 eV

(2) 220 eV

(3) –20 eV

(4) B A 



8. C1 C2 120V 200V 




(1) 5C1 = 3C2 (2) 3C1 = 5C2

(3) 3C1 + 5C2 = 0 (4) 9C1 = 4C2

9. R 3R A B 

, –


(1) 
0

R


 (2) – 
0

R




(3) 
0

2
R




(4) – 

0

2
R





      
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10.
R'=10k IL

IL
V  = 100VS

V  = 40 VZ

10k

A voltage regulator circuit is shown in figure.

Find current through zener diode :-

(1) 6 mA (2) 4 mA

(3) 2 mA (4) None of these

11. A charge particle oscillates around its mean
position with 108 Hz frequency. Then particle
emits :-
(1) Radio waves
(2) Micro waves
(3) Infrared radiations

(4) Ultraviolet rays

12.
9

16
 part of a radioactive substance remains

active after time t. The active part of the same

substance after time t/2 will be-

(1) 
4

5
(2) 

3

4

(3) 
3

5
(4) 

7

8

13. Cap–monster maze is shown in figure. All the
capacitors have a capacity of 6F and all the
batteries have emf of 10V. The charge on
capacitor C is :-

C

(1) 60 C (2) 0

(3) 120 C (4) 240 C

14. If energy released per fission is 200 MeV, then

the number of fission reactions of 92U
235

 per

second for the production of 1 kW power will

be-

(1) 3.5 × 10
10 (2) 4.2 × 1011

(3) 3.125 × 10
12

(4) 3.125 × 10
13

10.
R'=10k IL

IL
V  = 100VS

V  = 40 VZ

10k


 :-
(1) 6 mA (2) 4 mA

(3) 2 mA (4)   
11. 108 Hz

:-
(1) 
(2) 
(3) 
(4) 

12. 
9

16
 t 

t/2 


(1) 
4

5
(2) 

3

4

(3) 
3

5
(4) 

7

8

13. 

6F 

 10V C 

C

(1) 60 C (2) 0

(3) 120 C (4) 240 C

14. 200 MeV 1 
 

92
U235 



(1) 3.5 × 1010 (2) 4.2 × 1011

(3) 3.125 × 1012 (4) 3.125 × 1013
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15. A paramagnetic sample shows a net

magnetisation of 4 Am–1 when placed in an

external magnetic field of 0.6T at a temperature

of 4K. When the same sample is placed in an

external magnetic field of 0.2T at a temperature

of 16K, the magnetisation will be :-

(1) 
11

Am
3


(2) 

12
Am

3


(3) 6 Am–1 (4) 2.4 Am–1

16. The diameter of a nucleus is proportional to-

(1) The mass number of an atom.

(2) The square root of mass number of an atom.

(3) The cube root of mass number of an atom.

(4) The atomic number of an atom.

17. There are two capacitors A and B of

capacitance 4µF and 6µF respectively. Their
breakdown voltages are 300 V and 250 V
respectively. If they are connected in series, the
maximum potential difference which can be
applied on their combination will be :-
(1) 400 V (2) 450 V

(3) 500 V (4) 550 V

18. In Davisson-Germer experiment an electron

beam accelerated with 54 volt is diffracted at

an angle of 50° by a nickel crystal  and

produces first diffraction maxima.  The

interatomic distance in Nickel crystal is-

(1) 1.67 Å (2) 1.61 Å

(3) 2.15 Å (4) 3.12 Å

19. An electrical technician requires a capacitance
of 2µF in a circuit across a potential difference
of 1 kV. A large number of 1 µF capacitors are
available to him each of which can withstand
a potential difference of not more than 400 V.
The minimum number of capacitors required
is :-

(1) 18 (2) 6 (3) 3 (4) 24

20. If the momentum of an electron is changed by

p, then the de-Broglie wavelength associated

with it changes by 0.50%. The initial

momentum of the electron will be-

(1) 
p

200


(2) 

p

199



(3) 200 p (4) 400 p

15. 4K 0.6T 

4 Am–1 

16K 0.2T 



(1) 
11

Am
3


(2) 

12
Am

3


(3) 6 Am–1 (4) 2.4 Am–1

16. 
(1) 
(2) 


(3) 


(4) 

17. A  B 4µF  6µF 

300 V 250 V 
 


(1) 400 V (2) 450 V

(3) 500 V (4) 550 V

18. 54 

50° 




(1) 1.67 Å (2) 1.61 Å

(3) 2.15 Å (4) 3.12 Å

19. 1 kV 2µF

1µF 

400 V 



 

(1) 18 (2) 6 (3) 3 (4) 24

20. p 

0.50% 



(1) 
p

200


(2) 

p

199



(3) 200 p (4) 400 p
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21. B-H curves (a) and (b) shown in the figure. are

associated with :-

(b)

 B

 H

(a)

(1) Ferromagnetic and a paramagnetic

substance respectively

(2) A paramagnetic and a ferromagnetic

substance respectively

(3) Soft iron and hard iron respectively

(4) Hard iron and soft iron respectively

22. Threshold frequency for a metal is 10
15

 Hz,

when the light of 4000 Å wave length incident

on it, then choose the correct statement-

(1) Photo electric effect will not happen

(2) Photo electrons will be emitted with the zero

velocity

(3) Photo electrons will be emitted with the

velocity of 10
3
 m/sec.

(4) Photo electrons will be emitted with the

velocity of 10
5
 m/sec.

23. Two short bar magnets of equal dipole moment

'M' are fastened perpendicularly at their

centres. The magnitude of resultant of two

magnetic fields at a distance 'd' from the centre

on the bisector of the right angle is :-

(1) 
0

3

M

4 d




(2) 0

3

2M

4 d





(3) 0

3

2 2M

4 d




(4) 

0

3

2M

4 d





21. B-H (a)  (b) 

(b)

 B

 H

(a)

(1) 


(2) 


(3) 

(4) 
22.  10

15
 4000 Å





(1) 

(2) 

(3) 10
3
 

(4) 10
5
 

23. (M) 



d 



(1) 
0

3

M

4 d




(2) 0

3

2M

4 d





(3) 0

3

2 2M

4 d




(4) 

0

3

2M

4 d





  Key Filling      
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24. Which one of the following statements about

photon is incorrect-

(1) Photon's rest mass is zero

(2) Momentum of photon is 
h

c



(3) Photon's energy is h

(4) Photon exerts no pressure

25. When magnetic field lines enter in a matter from

vacuum the distance among them is reduced

to half. Then for the matter correct relation is:-

(1) I H
 

(2) I 2H
 

(3) I 3H
 

(4) I 4H
 

26. The image of the object will be :-

(1) Real and inverted

(2) Real and erect        
O

(3) Virtual and erect

(4) Virtual and inverted

27. Figure shows two conducting thin concentric

shells of radii r and 3r. The outer shell carries

charge q. Inner shell is neutral. Find the charge

that will flow from earth to inner shell after the

switch S is closed.

r

3r
S

q

(1) 
q

3
 (2) 

q

3


(3) +3q (4) –3q

28. Diameter of a plano-convex lens is 6cm and

thickness at the centre is 3 mm. If speed of light

in material of lens is 2 × 108 m/s, the focal

length of the lens is :

(1) 15 cm (2) 20 cm

(3) 30 cm (4) 10 cm

24.   


(1) 

(2) 
h

c


 

(3) h 

(4) 

25. 




(1) I H
 

(2) I 2H
 

(3) I 3H
 

(4) I 4H
 

26. :-

(1) 

(2)         
O

(3) 

(4) 

27. r 3r 
q 
S 


r

3r
S

q

(1) 
q

3
 (2) 

q

3


(3) +3q (4) –3q

28. 6cm 

3 mm       

2 × 108 m/s:

(1) 15 cm (2) 20 cm

(3) 30 cm (4) 10 cm
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29. Two conducting plate of area A having charge

+q and –q as shown. A conducting plate of

thickness d is inserted between them. Taking

x = 0 at positive plate and x = 3d at negative

plate. The graph between electric potential V

and position x will be :-

dd d

+

+

+

+

–

–

–

–

(1) 

d 2d 3d

V

x

(2) 

d 2d 3d

V

x

(3) 

d 2d 3d

V

x

(4) 

d 2d 3d

V

x

30. A diver is depth 12 cm inside the water

4
µ

3

 
   , sees the sky in a cone of semi vertical

angle :-

(1) sin–1 
4

3

 
   (2) tan–1 

4

3

 
  

(3) sin–1 
3

4

 
   (4) 90º

31. An inductance of 1 mH, a condenser of 10 µF

and a resistance of 50 are connected in series.

The reactances of inductor and condensers are

same. The reactance of either of them will be:-

(1) 100  (2) 30 

(3) 3.2  (4) 10 

29. A 
+q –q d 

   
x = 0 x = 3d V

x 

dd d

+

+

+

+

–

–

–

–

(1) 

d 2d 3d

V

x

(2) 

d 2d 3d

V

x

(3) 

d 2d 3d

V

x

(4) 

d 2d 3d

V

x

30. 
4

µ
3

 
    12 

:-

(1) sin–1 
4

3

 
   (2) tan–1 

4

3

 
  

(3) sin–1 
3

4

 
   (4) 90º

31. 50 1mH 

10µF 



(1) 100  (2) 30 

(3) 3.2  (4) 10 

Use stop, look and go method in reading the question
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32. Refractive index of the transparent rod is 
2

3
.

The angle  for which the light grazes along

the wall of the rod is :-



(1) sin–1 
1

2

 
   (2) sin–1 

3

2

 
 
 

(3) sin–1 
2

3

 
  

(4) sin–1 
1

3

 
  

33. Half power frequencies of L.C.R. series AC

circuit are f
1
 and f

2
 respectively then resonant

frequency of circuit will be : -

(1) 
1 2f f

2


(2) 1 2f f

(3) 
1 2

1 2

f f

f f (4) 
1 2

1 2

2f f

f f

34. A body of superdense material with mass twice
the mass of earth but size very small compared
to the size of earth starts from rest from h << R
above the earth's surface. It reaches earth in
time t :-

(1) t
h
g

 (2) t
h
g


2

(3) t
h
g


2
3 (4) t

h
g


4
3

35. Some magnetic flux is changed from a coil of

resistance 10 . As a result an induced current

is developed in it, which varies with time as

shown in figure. The magnitudes of change in

flux through the coil in webers is :-

i (amp)
4

t (sec)
0.1

(1) 2 (2) 4

(3) 6 (4) None of these

32. 
2

3
  

   
 :-



(1) sin–1 
1

2

 
   (2) sin–1 

3

2

 
 
 

(3) sin–1 
2

3

 
  

(4) sin–1 
1

3

 
  

33. L.C.R. 

f
1
  f

2 
 : -

(1) 
1 2f f

2


(2) 1 2f f

(3) 
1 2

1 2

f f

f f (4) 
1 2

1 2

2f f

f f

34.   

 h << R 
t 


(1) t
h
g

 (2) t
h
g


2

(3) t
h
g


2
3 (4) t

h
g


4
3

35. 10  





i (amp)
4

t (sec)
0.1

(1) 2 (2) 4

(3) 6 (4) 
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36. Two bodies are revolve around a planet, orbital

radius of A is 4R and radius of B is R, if speed of

A is 3 V then speed of B is :-

(1) 12 V (2) 6 V

(3) 
4

3

V
(4) 

3

2
V

37. A physicist work in a laboratory where the

magnetic field is B
0
. She wears a necklace

enclosing area A
0
 in such a way that the plane

of the necklace is normal to the field and is

having a resistance R
0
. Because  of power

failure, the field decays with constant rate to

zero in time t
0
 seconds. Then what is the total

heat produced in her necklace ?

(1) 

2 2
0 0

0

B A

Rt
(2) 

2 2
0 0

0

2B A

Rt

(3) 
2 2
0 0 0B A t

R
(4) 

2 2
0 0 02B A t

R

38. If rotational speed of the earth increases then

weight of object at equator will :-

(1) Decreases (2) Remains constant

(3) Increases (4) Increases at the poles

39. A straight wire and circular loops of metal wire

are lying on a smooth table without touching

each other. Wire carries a current which

decreases with time. In response, the loop : -

(1) Remains stationary

(2) Is attracted by the wire

(3) Is repelled by the wire

(4) Rotates about its centre of mass

40. A lift falling freely after the break down of its

suspension. The mass of person inside the lift

remain/would become :-

(1) Zero

(2) Unchanged

(3) Doubled

(4) None of them

36. A 

4R  B  R   A 3V  

B   :-

(1) 12 V (2) 6 V

(3) 
4

3

V
(4) 

3

2
V

37. B
0




A
0
 

R
0


t
0





(1) 

2 2
0 0

0

B A

Rt
(2) 

2 2
0 0

0

2B A

Rt

(3) 
2 2
0 0 0B A t

R
(4) 

2 2
0 0 02B A t

R

38. 

  :-

(1)   (2)   

(3)   (4)  

39. 



: -

(1) 

(2)  

(3)  

(4) 

40. 

   :-

(1) 

(2) 

(3) 

(4)   
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41. Two identical charges are placed at the two

corners of an equilateral triangle. The potential

energy of the system is U. The work done in

bringing an identical charge from infinity to the

third vertex is : -

(1) U (2) 2U

(3) 3U (4) 4U

42. The terminal voltage is E/2 when a current of

2A is flowing through 2 resistance. If emf

of the cell is E then the internal resistance of

cell is :-

(1) 1 (2) 2

 (3) 3  (4) 4

43. A uniform wire of resistance 9 ohm is bent

in the form of a circle. The effective resistance

across the points A and B is :–

(1) 3

(2) 2
120º

A

B

(3) 4.5

(4) 6

44. The current from the battery in the given circuit

is :-

7

10

6 1

2

8

0.5

15V

(1) 1 A

(2) 1.5 A

(3) 2 A

(4) 3 A

45. A bulb (100W, 200V) is attached to a voltage

of 160 V. The power dissipation is :–

(1) 64W (2) 100W

(3) 32W (4) 50W

41. 

U 

: -

(1) U (2) 2U

(3) 3U (4) 4U

42. 2 2A 

E/2 

E 

(1) 1 (2) 2

(3) 3 (4) 4

43. 9 

A B  :–

(1) 3

(2) 2
120º

A

B

(3) 4.5

(4) 6

44.       :-

7

10

6 1

2

8

0.5

15V

(1) 1 A

(2) 1.5 A

(3) 2 A

(4) 3 A

45. (100W,200V)  160 V   
   

(1) 64W (2) 100W

(3) 32W (4) 50W
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46. The quantity of electricity in coulombs needed to

reduce 1 mol of Cr2O7
2– in acidic medium is :-

(1) 19300 C (2) 579000 C

(3) 482500 C (4) 289500 C

47. Which can be resolvable : -

(1) NH (2) N

(3) 
NH2

(4) 
NH2

48. Value of 0
3E  may be calculated from :-

Fe Fe
2+

Fe
3+Eº1 Eº2

Eº3

(1) 

0
1
0
2

E
1

E
 (2) 

0 0
2 1E 2E

3



(3) 
0 0
1 2E E

2


(4) 

0 0
1 2E 2E

2



49. Compare acidic strength : -

(i) Ph—CO
2
H (ii) Ph—OH

(iii) Ph—CCH (iv) Ph—CH
2
—OH

(1) i > ii > iii > iv (2) i > ii > iv > iii

(3) i > iv > iii > ii (4) ii > i > iv > iii

50. Following standard electrode potential data are

given below :-

I2 + 2e–  2I¯ ; Eº = 0.54 V

Br
2
 + 2e–  2Br– ; Eº = 1.09 V

Fe2+ + 2e–  Fe Eº = – 0.44

Which of the following reaction is non spontaneous

(1) Br2
 + 2I¯  2Br– + I

2

(2) Fe + Br2  Fe2+ + 2Br–

(3) Fe + I2  Fe2+ + 2I¯

(4) I2 + 2Br–  2I¯ + Br2

51. In which cation + M of –OCH
3
 does not

operates :-

(1) CH CH O–CH3 3– –


  (2) 

CH2

OCH3



(3) 
OCH3



         (4) CH CH=CH–OCH2 3–


46. 1 Cr
2
O

7
2– 

:-
(1) 19300 C (2) 579000 C

(3) 482500 C (4) 289500 C

47.  (resolution)  : -

(1) NH (2) N

(3) 
NH2

(4) 
NH2

48. 0
3E  :-

Fe Fe
2+

Fe
3+Eº1 Eº2

Eº3

(1) 

0
1
0
2

E
1

E
 (2) 

0 0
2 1E 2E

3



(3) 
0 0
1 2E E

2


(4) 

0 0
1 2E 2E

2



49.  : -
(i) Ph—CO

2
H (ii) Ph—OH

(iii) Ph—CCH (iv) Ph—CH
2
—OH

(1) i > ii > iii > iv (2) i > ii > iv > iii

(3) i > iv > iii > ii (4) ii > i > iv > iii

50.      
 :-

I2 + 2e–  2I¯ ; Eº = 0.54 V

Br
2
 + 2e–  2Br– ; Eº = 1.09 V

Fe2+ + 2e–  Fe Eº = – 0.44


(1) Br

2
 + 2I¯  2Br– + I

2

(2) Fe + Br2  Fe2+ + 2Br–

(3) Fe + I2  Fe2+ + 2I¯

(4) I2 + 2Br–  2I¯ + Br2

51.  –OCH
3
 + M : -

(1) CH CH O–CH3 3– –


  (2) 

CH2

OCH3



(3) 
OCH3



         (4) CH CH=CH–OCH2 3–


      
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52. Which pair of electrolytes could not be

distinguished by the product of electrolysis

using inert electrodes :-

(1) 1 M CuSO4
 Solu., 1 M CuCl

2
 Solu.

(2) 1 M KCl solu., 1 M KI solu.

(3) 1 M AgNO
3
 Solu., 1 M Cu(NO

3
)

2
 Solu.

(4) 1 M KCl Solu., 1 M NaCl solu.

53. Which of the following compound is chiral?

(1) (2) 

Me

H

O

NH

(3) 

Cl

CH3

(4) Cl
Cl

Cl

54. The equivalent conductance of monobasic acid

at infinite dilution is 348 ohm–1cm2eq–1. If the

resistivity of the solution containing 15 g acid

(mol. mass 49) in 1 litre is 18.5 ohm cm. What

is the degree of dissociation of acid :-

(1) 45.9% (2) 40.2 %

(3) 60.4 % (4) 50.7%

55. In which of the following alkenes

hyperconjugation is not possible?

(1) (2) 

CH2

(3) H
2
C = CH–CH

3
(4) 

56. For 2NO(g) + H2(g)  2NOH(g), rate law is,

r = k [NO]2 [H2]. Then which of the following

mechanisms is/are valid for the reaction :

I : 2NO(g) 
k(eq.) N2O2(g) (fast)

N2O2(g) + H2(g) k '  2NOH(g) (slow)

II : NO(g) +H2(g) 
k 'eq. NOH2(g) (fast)

NOH2(g) + NO(g) k" 2NOH (slow)

(1) only I (2) only II

(3) both I and II (4) none of the above

52. 

:-
(1) 1 M CuSO

4
, , 1 M CuCl

2
 

(2) 1 M KCl , 1 M KI 
(3) 1 M AgNO

3
 , 1 M Cu(NO

3
)
2
 

(4) 1 M KCl , 1 M NaCl 
53. : -

(1) (2) 

Me

H

O

NH

(3) 

Cl

CH3

(4) Cl
Cl

Cl

54.  
348 ohm–1cm2eq–1 15 g 
49) 
18.5 ohm cm   
 :-
(1) 45.9% (2) 40.2 %

(3) 60.4 % (4) 50.7%

55. : -

(1) (2) 

CH2

(3) H
2
C = CH–CH

3
(4) 

56. 2NO(g) + H2(g)  2NOH(g) ,  ,

r = k [NO]2 [H2] 
 :

I : 2NO(g) 
k(eq.) N2O2(g) ()

N2O2(g) + H2(g) k '  2NOH(g) ()

II : NO(g) +H2(g) 
k 'eq. NOH2(g) ()

NOH2(g) + NO(g) k" 2NOH ()
(1)  I (2)  II

(3) I  II  (4) 
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57. The major product of the following reaction is : -

CH
3
—CH

2
—CCH 2 3 2( i)NaNH (ii)CH CH Br

(1) H
3
C—CH

2
—CC—CH

2
—CH

3

(2) H C—CH—C CH3 

CH CH2 3

(3) H C—CH—CH—CH3 2 3

NH2

(4) H
3
C—CH

2
—CC—NH

2

58. The relation between t50
 & t99.9for a first order

reaction is :

[T50
 = time required for 50% reaction

t99.9 = time required for 99.9% reaction]

(1) t99.9 = 2t50 (2) t99.9 = 5t50

(3) t99.9 = 10t50 (4) t99.9 = 9t50

59. A 2

4

Br

CCl
  Meso 2, 3-dibromobutane, identify

reactant (A) : -

(1) (2) 

(3) (4) 

60. The ratio of t3/4 & t1/2 for a zero order reaction is

(1) 1 (2) 3/2  (3) 2 (4) 5/2

61. Which of the following aromatic rings is

alkylated most rapidly by CH
3
CH

2
Cl/AlCl

3
?

(1) Benzene

(2) Ethylbenzene

(3) Chlorobenzene

(4) benzenesulfonic acid

62. Which of the following is the best protective

colloid :-

(1) Gelatin (Gold No. = 0.005)

(2) Gum arabic (Gold No. = 0.15)

(3) Egg albumin (Gold No. = 0.08)

(4) None of these

63.

Number of benzylic hydrogens in given

compound?

(1) 7 (2) 8 (3) 9 (4) 12

57.  : -

CH
3
—CH

2
—CCH 2 3 2( i)NaNH (ii)CH CH Br

(1) H
3
C—CH

2
—CC—CH

2
—CH

3

(2) H C—CH—C CH3 

CH CH2 3

(3) H C—CH—CH—CH3 2 3

NH2

(4) H
3
C—CH

2
—CC—NH

2

58. t50
  t99.9  :

[T50 = 50% 

t99.9 = 99.9% ]

(1) t99.9 = 2t50 (2) t99.9 = 5t50

(3) t99.9 = 10t50 (4) t99.9 = 9t50

59. A 2

4

Br

CCl
  Meso 2, 3-dibromobutane,  (A)

 : -

(1) (2) 

(3) (4) 

60. t3/4  t1/2 
(1) 1 (2) 3/2  (3) 2 (4) 5/2

61. CH
3
CH

2
Cl/AlCl

3 
: -

(1) Benzen

(2) Ethylbenzene

(3) Chlorobenzene

(4) benzenesulfonic acid

62. :-

(1)  ( = 0.005)

(2)  ( = 0.15)

(3) ( = 0.08)

(4) 

63.

: -
(1) 7 (2) 8

(3) 9 (4) 12

Take it Easy and Make it Easy



15–04–2013

14 / 36 HYour Target is to secure Good Rank in Pre-Medical 2013

MAJOR TEST

TARGET : PRE-MEDICAL 2013 (NEET-UG)

64. Lyophillic sols are :-

(1) Irreversible sols

(2) They are prepared from inorganic compounds

(3) Coagulated by adding electrolytes

(4) Self-stabilizing

65. What reagents can best be used to accomplish

the following transformation?
OH

(1) 1. BH
3
, THF 2. HO–, H

2
O

2

(2) H+, H
2
O

(3) 1. Hg(OAc)
2
, H

2
O 2. NaBH

4

(4) NaOH/H
2
O

66. If P > 
t
 then electronic configuration of d5 is

(1) t
2
g5 eg0 (2) t

2
g3 eg2

(3) eg2 t
2
g3 (4) eg4 t

2
g1

67. Which of the following statements correctly

describe(s) E
1
 reactions of alkyl halides (RX)?

I. Rate = k [base]

II. Rate = k [base] [RX]

III. Rate = k [RX]

IV. The reactions occur in two distinct steps

V. Rearrangements are sometimes seen

(1) II and IV (2) III and V

(3) I, IV and V (4) III, IV and V

68. Which of the following compound absorb light

of visible Range :-

(1) [Fe(CN)
6
]–4 (2) [Co(H

2
O)

6
]+3

(3) [PtCl
4
]–2 (4) [Co(C

2
O

4
)

3
]–4

69. CH  – CH2 3

Cl

 
–

3

3

CH OK

CH OH



  major product :-

(1) CH  – CH2 3

CH3

(2) CH  – CH2 3

(3) CH CH– 3

(4) 
CH  – CH2 3

OCH3

64.  :-
(1) 
(2) 
(3) 
(4) 

65. : -
OH

(1) 1. BH
3
, THF 2. HO–, H

2
O

2

(2) H+, H
2
O

(3) 1. Hg(OAc)
2
, H

2
O 2. NaBH

4

(4) NaOH/H
2
O

66.  P > 
t
 d5 

(1) t
2
g5 eg0 (2) t

2
g3 eg2

(3) eg2 t
2
g3 (4) eg4 t

2
g1

67.  E
1
 : -

I. Rate = k [base]

II. Rate = k [base] [RX]

III. Rate = k [RX]

IV. The reactions occur in two distinct steps

V. Rearrangements are sometimes seen

(1) II and IV (2) III and V

(3) I, IV and V (4) III, IV and V

68. 
 :-
(1) [Fe(CN)

6
]–4 (2) [Co(H

2
O)

6
]+3

(3) [PtCl
4
]–2 (4) [Co(C

2
O

4
)

3
]–4

69. CH  – CH2 3

Cl

 
–

3

3

CH OK

CH OH



  :-

(1) CH  – CH2 3

CH3

(2) CH  – CH2 3

(3) CH CH– 3

(4) 
CH  – CH2 3

OCH3
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70. Select the incorrect statement :-

(1) Cis platin can react with oxallic acid

(2) Myoglobin contain Fe+2 ion

(3) CuSO
4
 solution becomes colourless with

excess of KCN

(4) Ferro ferricyanide is turn bull's blue

coloured compound

71. What is the major product of the following

reaction?

OH

CH3

 + Br
2
 3FeBr

(1) 

OH

CH3

Br

(2) 

OBr

CH3

(3) 

Br

CH3

(4) 
BrCH3

OH

72. Flux used in downs process is :-

(1) Na
3
AlF

6
(2) CaF

2

(3) CaCl
2

(4) Both (1) & (2)

73. Which can react with NaHCO
3
 : -

(1) 

OH

(2) 

OH

CH3

(3) 

COOH

(4) 

OH

NO2

74. Turquiose is :-

(1) AlPO
4
.Al(OH)

3
.H

2
O

(2) CuCO
3
.Cu(OH)

2

(3) Ag
2
S, Sb

2
S

3

(4) Na(NH
4
)HPO

4
.4H

2
O

70. :-

(1) 

(2) Fe+2 

(3) CuSO
4
 KCN  



(4) Turn bull's blue 



71. : -

OH

CH3

 + Br
2
 3FeBr

(1) 

OH

CH3

Br

(2) 

OBr

CH3

(3) 

Br

CH3

(4) 
BrCH3

OH

72. :-
(1) Na

3
AlF

6
(2) CaF

2

(3) CaCl
2

(4) Both (1) & (2)

73.  NaHCO
3 
 : -

(1) 

OH

(2) 

OH

CH3

(3) 

COOH

(4) 

OH

NO2

74. :-

(1) AlPO
4
.Al(OH)

3
.H

2
O

(2) CuCO
3
.Cu(OH)

2

(3) Ag
2
S, Sb

2
S

3

(4) Na(NH
4
)HPO

4
.4H

2
O

       
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75. Which is correct reaction :-

(1) 

OH

 + CH C Cl3– –

O

 3AlCl  Nucleophilic

       substitution

(2) 

OH

 + CH C Cl3– –

O

   Electrophilic

      substitution

(3) CH CH CH CH3 2 3– – –

Cl

 3

3

CH O

CH OH/



 
Nucleophilic

         substitution

(4) CH C Cl3– –

CH3

CH3

 + CH
3
–OH  Nucleophilic

         substitution
76. Select incorrect statement : -

(1) Bactericidal antibiotics are those which kills

the microbes

(2) Bacteriostatic antibiotics are those which

inhibits the growth of microbes

(3) Ofloxacin is the bacteriostatic antibiotics

(4) penicillin is bactericidal

77. MgBr + Et—O—C—O—Et

O

(excess)

 ( A )

H

  (B) ; Final product (B) is : -

(1) C

O

(2) C

OH

(3) PhCH (4) Ph—CH—Ph

OH

78. Among the following which compound can't

be identified by Lassaigne's test?

(1) diazo compounds (2) NH
4
NO

3

(3) NH
2
 · NH

2
(4) NH

2
OH

79. Which of the following compounds will not

undergo cannizaro reaction?

(1) H—C—H

O

(2) Ph—C—H

O

(3) CH —C—H3

O

(4) D—C—D

O

75. :-

(1) 

OH

 + CH C Cl3– –

O

 3AlCl  Nucleophilic

       substitution

(2) 

OH

 + CH C Cl3– –

O

   Electrophilic

      substitution

(3) CH CH CH CH3 2 3– – –

Cl

 3

3

CH O

CH OH/



 
Nucleophilic

         substitution

(4) CH C Cl3– –

CH3

CH3

 + CH
3
–OH  Nucleophilic

         substitution
76.  : -

(1) Bactericidal 
(2) Bacteriostatic 


(3) Ofloxacin   Bacteriostatic


(4) bactericidal 

77. MgBr + Et—O—C—O—Et

O

(excess)

 ( A )

H

  (B); (B)  : -

(1) C

O

(2) C

OH

(3) PhCH (4) Ph—CH—Ph

OH

78. 

(1) diazo compounds (2) NH
4
NO

3

(3) NH
2
 · NH

2
(4) NH

2
OH

79. :-

(1) H—C—H

O

(2) Ph—C—H

O

(3) CH —C—H3

O

(4) D—C—D

O
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80. Match the column : -

Column-I      Column-II

(A) Terylene (P) Condensation

     polymerization

(B) Styrene (Q) Addition

     polymerization

(C) Bakelite (R) Homo-polymer

(D) Teflon (S) Co-polymer

(1) A  P,S; B  Q,R; C  Q,S; D  Q,R

(2) A  P,S; B  Q,R; C  Q,R; D  P,S

(3) A  P,S; B  Q,R; C  P,S; D  Q,R

(4) A  P,R; B  Q,S; C  P,S; D  Q,R

81. Which of the following gives positive iodoform

test ?

(1) Ph — CHO (2) Ph—C—Ph

O

(3) Ph—C—CH3

O

(4) Ph—C—CH —CH2 3

O

82. Which of the following pairs give positive

Tollens test?

(1) Glucose, sucrose

(2) Glucose, fructose

(3) Hexanal, acetophenone

(4) Fructose, sucrose

83. Which of the following acids is/are weaker acid

than benzoic acid?

(1) 

CO H2
NO2

(2) 

CO H2

NO2

(3) 

CO H2

OCH3

(4) 

CO H2

NO2

NO2

84. Maximum number of monosaccharide units

present in oligosaccharides is : -

(1) 8 (2) 15 (3) 10 (4) 40

85. Which of the following is/are more reactive

than acetone toward Grignard reagent?

(A) H—C—H

O

(B) CH —C—H3

O

(C) Ph—C—CH3

O

(D) Ph—C—Ph

O

(1) A, B (2) C, D

(3) B, A, C (4) All

80.  : -
Column-I      Column-II

(A) Terylene (P) Condensation

     polymerization

(B) Styrene (Q) Addition

     polymerization

(C) Bakelite (R) Homo-polymer

(D) Teflon (S) Co-polymer

(1) A  P,S; B  Q,R; C  Q,S; D  Q,R

(2) A  P,S; B  Q,R; C  Q,R; D  P,S

(3) A  P,S; B  Q,R; C  P,S; D  Q,R

(4) A  P,R; B  Q,S; C  P,S; D  Q,R

81. : -

(1) Ph — CHO (2) Ph—C—Ph

O

(3) Ph—C—CH3

O

(4) Ph—C—CH —CH2 3

O

82. : -

(1) Glucose, sucrose

(2) Glucose, fructose

(3) Hexanal, acetophenone

(4) Fructose, sucrose

83. : -

(1) 

CO H2
NO2

(2) 

CO H2

NO2

(3) 

CO H2

OCH3

(4) 

CO H2

NO2

NO2

84. oligosaccharide 
 : -
(1) 8 (2) 15 (3) 10 (4) 40

85.  


(A) H—C—H

O

(B) CH —C—H3

O

(C) Ph—C—CH3

O

(D) Ph—C—Ph

O

(1) A, B (2) C, D

(3) B, A, C (4) 
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86. Protein on hydrolysis gives : -

(1) -amino acid (2) -amino acid

(3) -amino acid (4) All of these

87. Which of the following compound does not

reacts with ammonical AgNO
3
?

(1) 

NH CI3

 –

(2) 

O

CH —C—CH3 3

(3) CH
3
 — C  CH (4) 

O

HPh

88. Glycosidic linkage is present in : -

(1) Sucrose (2) Maltose

(3) Lactose (4) All of these

89. Correct match is :-

Column-I     Column-II

(A) 

NH2

(P)   Positive isocyanide test

(B) Ph—C—CH3

O

(Q) Undergo Reimen

     Teimann reaction

(C) 

OH

(R)  Hoffmann bromamide

      reaction

(D) Ph—C—NH2

O

(S)   2, 4 DNP (Positive test)

(1) A  P, B  S, C  Q, D  R

(2) A  R, B  S, C  Q, D  P

(3) A  R, B  Q, C  P, D  S

(4) A  P, B  Q, C  R, D  S

90. A 
HNO2 B (major) 

H-Br

Br
H




C (major)

Compound A, B and C are : -

(1) NH2
, 

OH
, 

(2) NH2
, OH , 

(3) 
NH2

, 
OH

, 

(4) NH2
, 

OH
, 

86.  : -
(1) -amino acid (2) -amino acid

(3) -amino acid (4) All of these

87.  AgNO
3 
    

 :-

(1) 

NH CI3

 –

(2) 

O

CH —C—CH3 3

(3) CH
3
 — C  CH (4) 

O

HPh

88.  : -
(1) Sucrose (2) Maltose

(3) Lactose (4) All of these

89. 
Column-I     Column-II

(A) 

NH2

(P)   Positive isocyanide test

(B) Ph—C—CH3

O

(Q) Undergo Reimen

     Teimann reaction

(C) 

OH

(R)  Hoffmann bromamide

      reaction

(D) Ph—C—NH2

O

(S)   2, 4 DNP (Positive test)

(1) A  P, B  S, C  Q, D  R

(2) A  R, B  S, C  Q, D  P

(3) A  R, B  Q, C  P, D  S

(4) A  P, B  Q, C  R, D  S

90. A 
HNO2 B (major) 

H-Br

Br
H




C (major)

 A, B  C  : -

(1) NH2
, 

OH
, 

(2) NH2
, OH , 

(3) 
NH2

, 
OH

, 

(4) NH2
, 

OH
, 
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91. In angiosperm plant, male and female

reproductive organs are developed in

specialized structure, that is :-

(1) Stamen

(2) Carpel

(3) Flower

(4) None of the above

92. For preventing inbreeding depression, which

device develop by plant ?

(1) Self-incompatibility

(2) By dioecious nature

(3) By dichogamy

(4) All are correct

93. Read the following statements carefully :-

(a) Pollen tube contain two male gametes

(b) One male gamete is motile and other is non

motile

(c) Monosiphonous condition occurs in most

of the angiosperms

(d) Pollen tube show apical growth

How many statements are correct with respect

to flowering plants :-

(1) 1 (2) 2

(3) 3 (4) 4

94. Read the following statements :-

(i) Geitonogamy occurs in monoecious plant

(ii) Autogamy occurs in Bisexual flower

(iii)Xenogamy occurs in monoecious plant

How many statement are correct ?

(1) One (2) Two

(3) Three (4) None

95. Read the following statements :-

(A)Typical angiosperm anther is monothecous

(B) Formation of functional megaspore

generally take place at chalazal end

(C) Basal part of ovule is known as hilum

How many above statements are correct and

incorrect ?

(1) 2-correct, 1-incorrect

(2) 3-correct, 0-incorrect

(3) 1-correct, 2-incorrect

(4) 0-correct, 3-incorrect

91. 

       :-

(1) 

(2) 

(3) 

(4) 
92. 


(1) 
(2) 
(3) 
(4)  

93. :-
(a) 
(b)       
 

(c)     
  

(d) 
:-
(1) 1 (2) 2

(3) 3 (4) 4

94. :-
(i) 
(ii) 
(iii)

(1)  (2) 
(3)  (4) 

95. :-
(A)

(B)    
   

(C) 



(1) 2-, 1-

(2) 3-, 0-

(3) 1-, 2-

(4) 0-, 3-

   
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96.

B

A

The labelled A and B respectively represents:-

(1) Vegetative cell, generative cell

(2) Vegetative nucleus, generative nucleus

(3) Generative cell, vegetative cell

(4) Generative nucleus, vegetative nucleus

97. The nucleus of functional megaspore divide

mitotically to form 8 nucleated embryosac.

Which one of the following is wrong ?

(1) Six of the eight nuclei are surrounded by

cell walls

(2) Polar nuclei are situated above the egg

apparatus

(3) Polar nuclei are situated above the antipodal

cells

(4) Polar nuclei are situated below the egg

apparatus

98. In which crop resistance to yellow mosaic virus

were induced by mutation :-

(1) Mung bean (2) Himgiri

(3) Lablab (4) Okra

99. Nobel laureate Norman E. Borlaug developed

semi dwarf variety of :-

(1) Cotton (2) Wheat

(3) Chilli (4) Sugarcane

100. Which one of the following is not used to

increase soil fertility :-

(1) Bacillus thuringiensis

(2) Vigna sinesis

(3) Rhizobium

(4) Azotobacter

101. Insect resistant present in host crop plants may

be due to :-

(1) Morphological characteristics

(2) Biochemical characteristics

(3) Physiological characteristics

(4) All of the above

96.

B

A

A B :-
(1) 
(2) 
(3) 
(4) 

97. 8


(1)           


(2)     


(3) 


(4)      


98. 
:-
(1)  (2) 
(3)  (4) 

99.    
:-
(1)  (2) 
(3)  (4) 

100. 
 :-
(1) 
(2) 
(3) 
(4) 

101.  
:-
(1) 
(2) 
(3) 
(4) 
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102. Eye of mammals  and eye of octopus are

example of :-

(1) Homologous organ

(2) Analogous organ

(3) Reduced organ

(4) Vestigial organ

103. Excess use of herbicides, pesticides has only

resulted in selection of resistant varieties in a

much lesser time scale. It was an example of

evolution by :-

(1) Mass extinction

(2) Anthropogenic action

(3) Continental drift

(4) Both (1) and (3)

104. During human evolution the body of which

primitive ancestors covered by hairs and walk

like gorilla and chimpanzee.

(1) Dryopithecus and cromagnon

(2) Dryopithecus and Ramapithecus

(3) Ramapithecus and Homohabilis

(4) Java man and Peking man

105. Cranial capacity of homoerectus was about :

(1) 650-800 cc (2) 1400 cc

(3) 900 cc (4) 1600 cc

106. Why, pouched mammals are survived in

Australia?

(1) Divergent evolution

(2) Continental drift

(3) Adaptive radiation

(4) Convergent evolution.

107. Out of the following which is an example of

convergent evolution ?

(A) Eyes of octopus and mammals

(B) Flippers of penguins and Dolphins

(C) Sweet potato and potato

(1) A and C (2) A and B

(3) B and C (4) A, B and C

108. In India, how many varieties of rice are present?

(1) 200000 (2) 500

(3) 10000 (4) 1000

109. Pomato is an example of :

(1) Somatic hybrid

(2) Somatic embryo

(3) Androgenic haploid

(4) Single cell protein

102. :-

(1) 

(2) 

(3) 

(4) 
103. 



:-

(1)  

(2) 

(3)  

(4) (1) (3) 
104. 



(1) 

(2) 

(3) 

(4) 
105. 

(1) 650-800 cc (2) 1400 cc

(3) 900 cc (4) 1600 cc

106.     

(1)  
(2) 
(3) 
(4)  

107.   

(A) 
(B) 
(C) 
(1) A C (2) A B
(3) B C (4) A, B C

108. 
(1) 200000 (2) 500

(3) 10000 (4) 1000

109. 
(1) 
(2) 
(3) 
(4) 
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110. Match the following

A. Himgiri variety i. White rust

B. Pusa swarnim ii. Hill bunt

C. Pusa shubhra iii. Leaf curl

D. Pusa sadabahar iv. Black rot

A B C D

(1) ii i iii iv

(2) i ii iv iii

(3) ii i iv iii

(4) i ii iii iv

111. Which of the following cell property is the basis

of plant tissue culture

(1) Respiration

(2) Digestion

(3) Meristematic

(4) Totipotency

112. Each of the plant obtained through tissue culture

are genetically identical to the original plant from

which they were grown are known as

(1) Genocopies

(2) Somaclonal variants

(3) Somaclones

(4) Phenocopies

113. Fusion between two naked protoplasts is

known as

(1) Somatic hybridisation

(2) Germinal hybridisation

(3) Parasexual hybridisation

(4) Both 1 and 3

114. In maize resistance to Maize stem borer is

due to

(1) High aspartic acid

(2) Low nitrogen and sugar content

(3) High nitrogen and suger content

(4) Both 1 and 2

115. Select the incorrect match

(1) Pusa gaurav – Aphids

(2) Pusa sem 2 – Shoot borers

(3) Pusa sem 3 – Jassids & Aphids

(4) Pusa sawani – Fruit borers

110. 

A. Himgiri variety i. White rust

B. Pusa swarnim ii. Hill bunt

C. Pusa shubhra iii. Leaf curl

D. Pusa sadabahar iv. Black rot

A B C D

(1) ii i iii iv

(2) i ii iv iii

(3) ii i iv iii

(4) i ii iii iv

111. 

(1) 
(2) 
(3) Meristematic)

(4)  (Totipotency)

112. 


(1) 
(2) 
(3) 
(4) 

113. (Protoplasts) 

(1) 
(2) 
(3) 
(4) 1 3 

114. Maize stem borer 

(1) 
(2) 
(3) 
(4) 1 2 

115. 
(1) Pusa gaurav – Aphids

(2) Pusa sem 2 – Shoot borers

(3) Pusa sem 3 – Jassids Aphids

(4) Pusa sawani – Fruit borers

        
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116. When the resources are limited, which are the
phases exhibited by an organism during
growth?

(1)Lag, Log, exponential, asymptomatic,

deacceleration

(2)Lag, log asymptomatic, deacceleration,

exponential

(3)Lag, log, deacceleration, exponential,

asymptomatic

(4)Lag, acceleration, log, deacceleration,

asymptomatic

117.

(1) b = logistic plot a = exponential plot

k = carrying capacity

(2) a = exponential plot b = logistic plot

N = carrying capacity

(3) a = carrying capacity b = exponential plot

k = logistic plot

(4) a = carrying capacity b = logistic plot

k = exponential plot

118. How many fishes in the list given below are

marine ?

Common carp, Catla, Pomfret, Hilsa, Rohu,

Mackerel, Salmon, Mrigal

(1) Six (2) Three

(3) Four (4) Five

119. Read the following four statement (a – d) :

(a) Pisciculture include rearing, catching and

selling of fishes, mollusca and crustaceans

(b)More then 70 percent of the world livestock

population is in India and China.

(c) Milk yield is primarily dependent on the

quality of breeds in the farm.

(d)The feeding of cattle should be carried out

in scientific manner.

How many of the above statements are wrong?

(1) Four (2) One

(3) Two (4) Three

116. 



(1) 

(2) 

(3) 

(4) 

117.

(1) b =   a = 
k = 

(2) a =  b = 
N = 

(3) a =   b = 
k = 

(4) a =  b = 
k = 

118. ?





(1)  (2) 

(3)  (4) 

119. (a – d) 
(a) 


(b)  70 


(c) 


(d)  



(1)  (2) 
(3)  (4) 
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120. Which of the following is the best breeding

method for animals that are below average in

productivity?

(1) Cross-breeding (2) Out-crossing

(3) Inbreeding (4) All the above

121. Some events of female reproductive cycle are

given below arrange these events in a proper

sequence :

(A) Primary follicle

(B) Primary oocyte

(C) Secondary follicle

(D) Corpus luteum

(E) Mature Graffian follicle

(F) Secondary oocyte

(1) A  B F C E D

(2) B A F C D 

(3) B A C F E D

(4) A B C E F D

122. The region outside the seminiferous tubule

contain small blood vessels, interstitial cells and

immunologically competent cells are present

called :-

(1) Perivitelline space (2) Peritesticular space

(3) Interstitial space (4) Inguinal space

123. Match the column–I with column–II :-

(A)
Copper 

releasing IUDs
(i) Inhibit ovulation

(B) Oral pills (ii) Suppress sperms motility

(C)
Sterilisation 

methods
(iii)

Make the uterus 

unsuitable for 

implantation
(D)

Hormonal 

releasing IUDs
(iv) Block gametes transport

Column-I Column-II

(1) A-iii, B-ii, C-i, D-iv

(2) A-iv, B-i, C-ii, D-iii

(3) A-ii, B-i, C-iv, D-iii

(4) A-ii, b-iii, C-i, D-iv

124. Finger like projection of trophoblast called

chorionic villi appear :-

(1) At the time of fertilization

(2) Just before implantation

(3) After implantation

(4) On morula

120. 

?
(1)  (2) 
(3)  (4) 

121. 


(A) 

(B) 

(C) 

(D) 

(E) 

(F) 
(1) A  B F C E D

(2) B A F C D 

(3) B A C F E D

(4) A B C E F D

122.   



:-

(1)  (2) 

(3)  (4) 
123. -I-II :-

(A)
dkWij eksfpr 

IUDs
(i) v.MksRlxZ lanfer djuk

(B) eq[kh; xksfy;ka (ii)
'kqØk.kqvksa dh xfr'khyrk dks 

lanfer djuk

(C) ca/;dj.k fof/k (iii)
xHkkZ'k; dks Hkzw.k ds jksi.k ds fy, 

vuqi;qDr cukuk

(D)
gkeskZu eksfpr 
IUDs

(iv) ;qXedksa ds ifjogu dks jksduk

dkWye-I dkWye-II

(1) A-iii, B-ii, C-i, D-iv

(2) A-iv, B-i, C-ii, D-iii

(3) A-ii, B-i, C-iv, D-iii

(4) A-ii, b-iii, C-i, D-iv

124. 
:-
(1) 
(2) 
(3) 
(4) 
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125. What is the follicular atresia ?

(1) Formation of graafian follicle

(2) Formation of corpus luteum

(3) Degenration of corpus luteum

(4) Regression and death of follicles till puberty

126. Female Wuchereria is viviparous which

produces microfilariae larvae with nocturnal

periodicity. These larvae enter in Culex

mosquito when it bites infected persons, 3rd

stage Juvenile is infectious stage for human

which enters in healthy person from Labium of

mosquito, Which one of the following

information is not correct for pathogen :-

(a) Common round worm

(b) Causes acute inflammation

(c) Causes filariasis

(d) Affects circulatory system

(e) Digenetic

(1) b, c (2) a, d, e

(3) a, b (4) a, b, d, e

127. Gametocytes during life cycle of Plasmodium

are developed in :-

(1) RBCs of mosquito

(2) Stomach of mosquito

(3) Liver of man

(4) RBCs of man

128. Most feared property of malignant tumors is:-

(1) Contact inhibition

(2) Metastasis

(3) Oncogenic transformation

(4) All of these

(Q.129 & 130 Based on given diagram)

Figure

125. 
(1) 
(2) 
(3) 
(4) 

126.  
    
Culex  

 

             
 :-
(a) 
(b) (acute) 
(c) 
(d) 
(e)  (Digenetic)

(1) b, c (2) a, d, e

(3) a, b (4) a, b, d, e

127.  
:-
(1) RBCs 
(2) 
(3) 
(4) RBCs 

128. :-
(1) 
(2) 
(3) 
(4) 

(Q.129  130     )

Figure
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129. Above plant/plant part is the source of :-

(1) Cocaine (2) Cannabinoids

(3) Opioids (4) Coca alkaloid

130. Above diagram is of :-

(1) Cannabis Sativa (2) Datura

(3) Opium poppy (4) Atropa belladona

131.

Figure

A

Labelled ‘‘A’’ is :-

(1) Thyroid

(2) Lymphatic vessels

(3) Lymph nodes

(4) Primary Lymphoid organ

132. Which of the following is incorrect match

regarding the drug and its source :-

(1) LSD Fruiting body of fungus

Cleviceps purpurea

(2) Opium Latex unripe capsule of

Papaver somniferum

(3) Hashish Dried Leaves of Erythroxylum

coca

(4) Ganja Dried unfertilised female

infloresence of hemp plant

133. Which of the following drug is/are obtained

from periwinkle plant and used in the treatment

of leukemia :-

(1) Vinblastin and Vincristin

(2) Taxol

(3) Colchicine

(4) Interferon

129. :-
(1)  (2) 
(3)  (4) 

130. :-
(1)  (2) 
(3)  (4) 

131.

Figure

A

‘‘A’’  :-
(1) 
(2) 
(3) 
(4) 

132.                
:-

(1) LSD   


(2)  


(3)           


(4)  


133.    
             
 :-
(1)  
(2) 
(3) 
(4) 
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134. Which of the following imaging technique uses

strong magnetic fields to accurately detect

pathological and physiological changes in the

living tissue and detect cancer  :-

(1) CT scanning (2) Radiography

(3) MRI (4) Sonography

135. In our country NACO is doing a lot to educate

the people about _________ :-

(1) Cancer (2) AIDS

(3) Pneumonia (4) Small pox

136. Which of the following is correct match :-

(1) Hashish  - Stimulant

(2) Heroin  - Coca alkaloid

(3) Morphine  - Sedative

(4) Amphetamine  - Opioid

137. Which of the following drug is a synthetic

analogue of adrenaline :-

(1) Cocaine (2) Charas

(3) Amphetamine (4) Dopamine

138. Read the following statements with respect to

sex linked inheritance :-

(A) Males will immediately express both kinds

of X-linked traits i.e. dominant & recessive

(B) Males are likely to be affected more by

X-linked diseases

(C) Females will express the X-linked

dominant trait in heterozygous condition

only

(D) Females express the X-linked recessive

trait in homozygous condition only

How many of above statements are correct :-

(1) One (2) Two (3) Three (4) Four

139. Which character is different from others on the

basis of inheritance :-

(1) Kappa particles in Paramecium

(2) Petite form of yeast

(3) Poky form of Neurospora

(4) Cytoplasmic male sterility

140. During southern blotting transfer of DNA molecules

from gel to nitrocellulose membrane is carried out

in the presence of a solution which is :-

(1) Probe solution

(2) Buffer solution

(3) Ethidium Bromide solution

(4) Alkaline solution

134. 


:-
(1) (CT scan)  (2) 
(3) MRI            (4) 

135. NACO ______ 
:-
(1)  (2) 
(3)  (4) 

136. :-
(1)   - 
(2)   - 
(3)   - 
(4)   - 

137. 
:-
(1)  (2) 
(3)  (4) 

138. 
 :-
(A) X-


(B) X-
(C) X-


(D) X-


:-
(1)  (2) 
(3)   (4) 

139. 
 :-
(1) 
(2) Petite 
(3) Poky 
(4) 

140. 
DNA   
:-
(1)  
(2) 
(3) 
(4) 
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141. Which one of the following statement is correct

for mutant allele :-

(1) It is  an original & dominant allele

(2) It is not formed by mutation in wild allele

(3) It is generally recessive in expression

(4) More than one option are correct

142. Absence of SBE in Pisum leads to the

development of :-

(1) Round seeds with large sized starch grains

(2) Round seeds with small sized starch grains

(3) Wrinkled seed with intermediate sized starch grains

(4) Wrinkled seed with small sized starch grains

143. Sutton & Boveri noted that behaviour of

chromosome was parallel to that of genes

because:-

(1) Both occurs in pairs

(2) Two alleles of a gene pair are located on

homologous chromosome

(3) Both separate during meiosis

(4) More than one options are correct

144. Which structural gene in lac operon is

responsible for hydrolysis of disaccharide into

its monomeric units :-

(1) y (2) z (3) a (4) i

145. In grasshopper :-

(a) Total number of chromosomes are same in

both  and 

(b) Two types of gametes are formed by male

(c) Female heterogamety is present

(1) a, b  & c are correct

(2) a & c are correct

(3) a & c are incorrect

(4) a & b are incorrect

146. Reciprocal cross :-

(a) Similar results eliminates the possibility of

cytoplasmic traits

(b) Helps to know whether alleles are present

on sex chromosome or autosome

(c) Always gives same F
2
 phenotypic ratio

(1) a, b  & c are correct

(2) a & b are correct

(3) a & c are correct

(4) b & c are correct

141. 
 :-
(1) 
(2) 
(3) 
(4) 

142.    SBE   
:-
(1) 
(2) 
(3) 
(4) 

143.   

:-

(1) 

(2) 



(3) 

(4) 
144. 

 
:-
(1) y (2) z (3) a (4) i

145. :-
(a)    


(b)   


(c) heterogamety   
(1) a, b  c  
(2) a  c  
(3) a c  
(4) a b  

146. :-
(a) 


(b) 


(c) F
2 


(1) a, b   c  
(2) a  b  
(3) a  c  
(4) b  c  

Time Management is Life Management
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147. Given below in the figure of one of the most

commonly used bioreactor.

Acid / Base
for pH 
control

Steam for 
sterilisation

Motor

From
braker

Flat bladed
impeller
Culture
broth

Sterile Air

In this flat bladed impeller helps in :-

(1) Maintaining the pH of medium

(2) Stirring the liquid medium

(3) Regulating temperature of medium

(4) Both (1) & (3)

148. Read the following statements :-

(A) Cyclosporin A is used as a clot buster

(B) Whisky, brandy & rum are produced by

distillation of fermented broth

(C) NPV are the major baculoviruses used as

biological control agents

(D) The biogas production technology in India

in developed by ICAR

Which of the above statements are not incorrect?

(1) A & B (2) B & C

(3) C & D (4) A & D

149. Which of the following feature cannot be related to

the PCR technique, when compare to gene cloning?

(1) More efficient

(2) Manipulated in Vivo only

(3) Less errors probability

(4) User's skill less required

150. In Flavr savr variety of tomato action of which

of the following enzyme has been blocked to

keep the fruit remain fresh for long time &

retain flavour & superior taste :-

(1) -amylase

(2) -amylase

(3) Polygalactouranase

(4) Pectinase

147. 


Acid / Base
for pH 
control

Steam for 
sterilisation

Motor

From
braker

Flat bladed
impeller
Culture
broth

Sterile Air

flat bladed impeller  :-
(1) pH 
(2) 
(3) 
(4) (1)  (3) 

148. :-
(A) Cyclosporin A clot buster 


(B) 


(C) NPV baculoviruses 


(D) ICAR


?
(1) A B (2) B C
(3) C D (4) A D

149. PCR 
?
(1) 
(2)  in Vivo 
(3) 
(4) 

150. Flavr savr       
 
 
  :-
(1) -amylase

(2) -amylase

(3) Polygalactouranase

(4) Pectinase
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151. Which of the following method can be termed

as vectorless approach to introduce foreign

DNA into host cells :-

(A)Microinjection

(B) Biolistics

(C) Bacterial Artifical chromosome

(1) A only (2) A & C both

(3) C only (4) A & B both

152. RNA interference (RNAi) involves silencing of

specific mRNA due to a complementary dsRNA

molecule. This is the method of cellular defance in:-

(1) Bacteria (2) Virus

(3) Eukaryotes (4) Only in monocots

153. Which name would you associate with a

transgenic cow producing milk having protein

in a concentration of 2.4 g/lit and is most

suitable for consumption by human infants :-

(1) Dolly (2) ANDI (3) Rosie (4) Eve

154. How many type of gametes will be produced by

 Drosophila having following arrangement of

two genes (Y+ & W+) on X-chromosomes :-

Y
+

W+

Y

W

(1) 2 (2) 4 (3) 1 (4) 8

155. Select the incorrect statements :-

(a) Linked genes causes absolute lethality
(b) Ratio of monohybrid & dihybrid test cross

are same
(c) F

2
 ratio in codominance & incomplete

dominance are same
(d) Sex of male Drosophila is dependent on Y-

chromosome
(1) a & b (2) b & c
(3) a, b & d (4) All of these

156. Read the following statements for polygenic

inheritance :-
(a) It controls quantitative traits

(b) Parental population remains constant
irrespective of polygenes number

(c) A single dominant allele express only a unit
of the trait

(d) One of the parental phenotype is expressed
in F

1
 individuals

How many statements are correct ?
(1) One (2) Two (3) Three (4) Four

151.    
DNA              
 :-
(A)Microinjection

(B) Biolistics

(C) Bacterial Artifical chromosome

(1) A (2) A  C 
(3) C (4) A  B 

152. RNA (RNAi) mRNA 
dsRNA 
:-
(1)  (2) 
(3) Eukaryotes (4) 

153.  
  2.4g /lit 
 
  :-
(1) Dolly (2) ANDI (3) Rosie (4) Eve

154. 
X-(Y+  W+) 
 :-

Y
+

W+

Y

W

(1) 2 (2) 4 (3) 1 (4) 8

155. :-
(a) absolute 
(b) 


(c) F
2 



(d)   Y-


(1) a  b (2) b  c
(3) a, b  d (4) 

156.   
:-
(a) 
(b) 


(c) 


(d) F
1
 


?
(1)  (2)  (3)  (4) 
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157. Regulation of gene expression is required for

the efficient working of cell. Read the following

statements with respect to operon system :-

(a) Polycistronic genes are regulated by

different promotors

(b) Each operon has its specific operator &

specific repressor

(c) Regulator is a non-constitutive gene of

operon

(d) The genes present in the operon are needed

together to function in same or related

metabolic pathway

How many statements are incorrect :-

(1) One (2) Two

(3) Three (4) Four

158. Population density referes to :-

(1) Presence of many species in a unit area

(2) Population size of an organism

(3) Composition of community

(4) All of the above

159. In which the maximum energy will flow on

terrestrial ecosystem :-

(a) Producer  Herbivores

(b) Herbivores  Carnivores

(c) Producers  Man

(d) Carnivores  Decomposers

(1) a, c (2) only d

(3) only b (4) b & d

(Q. No. 160 to Q. No. 162)

(D) (A) (C)

(B) (E)

160. In above diagram B is :-

(1) Primary consumer

(2) Decomposer

(3) Top consumer

(4) Producer

157. 

:-
(a) 


(b) 


(c) non-constitutive 


(d)          
 -


:-
(1)  (2) 
(3)  (4) 

158.  :-
(1) 
(2) 
(3) 
(4) 

159. 
 :-
(a)  
(b)  
(c)   
(d)   
(1) a, c (2) only d

(3) only b (4) b & d

(  160   162  )

(D) (A) (C)

(B) (E)

160.  B  :-
(1) 
(2) 
(3) 
(4) 
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161. Which mainly help to recycle the Nutrient :-

(1) A & C (2) Only D

(3) A, B, C & D (4) Only B

162. Which show nutrient immobilisation in above

diagram :-

(1) A (2) B

(3) C (4) D

163. How many statement are correct :-

(a) Predator also help in maintaining species

diversity in community.

(b) Decomposition is largely an oxygen

requiring process

(c) Number of trophic levels in GFC is never

restricted

(d) Some organisms of DFC are prey to GFC

animals.

(1) a, b, c, d (2) a, b, c

(3) a, b, d (4) b, c, d

164. How many statements are incorrect :-

(a) Mammals from colder region generally

have long ears and limbs

(b) It is at population level that natural selection

operates to evolve desired traits

(c) Electrostatic precipitates can remove 99%

gaseous pollutant present in exhaust

(d) Particulate size 2.5 µm or less in diameter

are not harmful for human health

(1) a, b (2) a, b, c

(3) a, c, d (4) d only

165. How many statements are incorrect :-

(a) Removal of 80% tigers from an area results

in increased population of deers

(b) The length of food chain is generally limited

to 3-4 trophic level due to energy loss.

(c) Carbon constitutes 49% of dry weight of

organisms

(d) 4 × 1013 kg of carbon is fixed in biosphere

through photosynthesis anually :-

(1) Two (2) Three

(3) None (4) All

166. Wild population of plant and animals and

traditional life styles of tribals are protected in :

(1) Biosphere Reserve (2) Sanctuary

(3) National Park (4) None of these

161. :-
(1) A & C (2) Only D

(3) A, B, C & D (4) Only B

162.  :-

(1) A (2) B

(3) C (4) D

163. :-
(a)        


(b) 


(c) 


(d) 


(1) a, b, c, d (2) a, b, c

(3) a, b, d (4) b, c, d

164.  :-
(a) 


(b) () 


(c) 
 99% 

(d) 2.5 µm 


(1) a, b (2) a, b, c

(3) a, c, d (4) d

165. :-

(a) 80% 



(b) 

3-4 

(c) 49% 
(d)         

4 × 1013 kg :-
(1)  (2) 
(3)  (4) 

166. 
:
(1)  (2) 
(3)  (4) 
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167. Which statements is/are true :-

(a) The green house effect is a naturally

occuring phenomenon

(b) Green house effect is responsible for

heating of earth surface and atmosphere

(c) Without green house effect the average

temperature of surface of earth would have

been a chilly – 18°C

(d) Clouds and gases reflect about one fourth

of the incoming solar radiation

(1) a, c (2) a, b, c

(3) a, b (4) a, b, c, d

168. Which is common gas, for green house effect

and ozone deplication both :-

(1) CFC (2) CH
4

(3) CO
2

(4) N
2
O

169. Match the Column-I with Column-II :-

Column-I Column-II

(i) Acid rain (a) CFCl
2
–CHF

2

(ii) Photo chemical (b) CO

smog

(iii) Combination with (c) CO
2

Haemoglobin

(iv) Depletion of (d) SO
2

ozone layer

(e) Unburned

hydrocarbon

(1) (i) c, d (ii) e (iii) b (iv) a

(2) (i) d, e (ii) a (iii) b (iv) c

(3) (i) d, a (ii) e (iii) b (iv) c

(4) (i) d, b (ii) c (iii) a (iv) e

170. BOD is measure of organic material present in

water. BOD value less than 5ppm indicates a

water sample to be .........

(1) Rich in DO

(2) Poor in DO

(3) Highly polluted

(4) Not suitable for aquatic life

171. Drosera, Utricularia, Nepenthes are the example

of :-

(1) Secondary consumer

(2) Producers

(3) Predators

(4) All of the above

167.  :-

(a) 

(b) 



(c) –18°C



(d) 


(1) a, c (2) a, b, c

(3) a, b (4) a, b, c, d

168. 

(1) CFC (2) CH

4
(3) CO

2
(4) N

2
O

169. -I -II :-

-I -II

(i)  (a) CFCl
2
–CHF

2

(ii)  (b) CO


(iii)  (c) CO

2


(iv)  (d) SO

2


(e) 


(1) (i) c, d (ii) e (iii) b (iv) a

(2) (i) d, e (ii) a (iii) b (iv) c

(3) (i) d, a (ii) e (iii) b (iv) c

(4) (i) d, b (ii) c (iii) a (iv) e

170. BOD 
BOD 5ppm 
.........

(1) DO 
(2) 
(3) 
(4) 

171. 
(1) 

(2) 

(3) 

(4) 
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172. Generally, the absolute amount of nutrient

moving in (input) and moving out (output) of

the ecosystem are ......... than the amount of

nutrient cycled with in (amongst different

components) the ecosystem :-

(1) Lesser

(2) More

(3) Equal

(4) May be equal or lesser

173. The totality of genes, species and ecosystem

of a region is called :-

(1) Species richness (2) Species diversity

(3) Biodiversity (4) Niche

174. Green mufflar is :-
(1) Green plants are planted for checking noise

pollution
(2) Green house effect
(3) Green revolution
(4) Green plant are planted for checking air

pollution
175. Pesticides are sprayed regularly in fields. These

are leached into water sources, from there, they
are taken up by different aquatic plants and
fishes at each trophic level. The correct figure
representing pesticides at each trophic level is –

(1) (2) 

(3) (4) 

176. Which of the following are generally
considered to be the major reasons ? Why
biodiversity should be conserved ?
(i) Economic benefits (ii) Ethical reasons
(iii) Political advantages (iv) For scientific study
(v) Ecological benefits
(1) (i), (ii), (v) (2) (i), (iii), (v)
(3) Only (ii), (v) (4) Only (ii), (iii)

177. Regarding life history variations. Which among

the following is incorrect

(1)Breeding once in life time – Bamboo

(2)Breeding many times in life time – Birds

(3)Production of large number of small size

offspring – mammals

(4)Production of small number of large size

organisms – Birds

172. 
      
 

     
(1) 
(2) 
(3) 
(4)    

173. 
 
(1)   (2)  
(3)   (4) 

174. :-

(1) 

(2) 

(3) 

(4) 
175.         

           

         
       :-

(1) (2) 

(3) (4) 

176. 
:-
(i)  (ii) 
(iii)  (iv) 
(v) 
(1) (i), (ii), (v) (2) (i), (iii), (v)

(3) (ii), (v) (4)  (ii), (iii)

177. 

(1) 

(2) 

(3)   



(4) 
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178. Population ecology is an important area of

ecology, because it links ecology with

(1)Population genetics (2) Evolution

(3) Physiognomy (4) Both 1 and 2

179. The components of ecosystem are seen to

function as an unit when we consider which of

the following aspect

(1)Productivity and decomposition

(2)Decomposition and energy flow

(3)Productivity and energy flow

(4)Productivity, decomposition, energy flow

and nutrient cycling

180. About succession, which of the following

statement is correct ?

(1)In xerosere, xeric conditions progress to

hydric conditions

(2)In hydrosere, mesic environment progress

to hydric conditions

(3)In hydrosere hydric environment progress

to mesic conditions

(4)Abandoned farm lands show primary

succession

178. 

(1)  (2) 
(3)  (4) 1 2

179.   



(1) 

(2) 

(3) 

(4) 

180. 

(1) 

(2) 



(3) 



(4)     



Your moral duty

is to prove that  is 

Test Date PHASE
Q. 165 177 171
A. B(H) B(H) 4(H)
Q. 54 90 111

A. 2 3 2(E)
Q. 64 72 165
A. 1 3 1
Q. 39 58 94 112 170
A. 4 3,4 3 2 2
Q. 130 158

A. B(H) 1,2,3
Q. 4 12 22 98
A. 2 2 3 1
Q. 142

A. 2,4
Q. 2 20 147 151 164
A. 4 3 1,3 1 3
Q. 3 24 127 158
A. 1 3 B 4

22/03/2013

Leader (MLT+MLU+MLV)22/03/2013

02/04/2013

31/03/2013

Leader (MLP+MLQ+MLR+MLS)23/03/2013

Leader (MLA))

Achiever (MAX+MAY+MAZ)+ENTHUSE

Leader (MLT+MLU+MLV)

Achiever (MAX+MAY+MAZ)+ENTHUSE

26/03/2013 Achiever (MAX+MAY+MAZ)+ENTHUSE

26/03/2013 Leader (MLT+MLU+MLV)

CORRECTION IN MAJOR TEST

23/03/2013 Achiever (MAW)

02/04/2013
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